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1. fEXARE
BB E B BGEE
NFEE . B EE BEOF R HRER
2 ok mMEES 305} MEEE
A (EBES) 870 M| 239m 90M| 14 30 F 9HM A (EREE)| 3640M 30 o 3,640 M
B & = 860 M| 242m 90F| 14 30 # 9H B & E| 3600M 30 4 3,600 M
C & g 850 A 245m 9OM| 14 3 F 9%HM CiE B 3560M 30 o 3,560 M
D & b= 840 M| 248 m 90F| 14 30 #% 9H D & E| 3510M 30 4 3,510 H
T E & E 830 M| 251 m 90F| 14 30 # 90H T B & &| 3470M 30 43 3,470 A
2. K#&E
BB E B BtEE
NFEE . B EE BEOF R HRER
2 ok mMEES 305} MEEE
A (EEESE) 830 M| 255m 90H | 1 % 35 % 90H A (EREE) 3,420 M 30 43 3,420 A
B & = 820 M| 258 m 90F| 149 3 # 9H B & E| 3380H 30 4 3,380 M
C & g 810 M| 261 m 9OM|l 14 3 F 9HM CiE B 3340M 30 o 3,340 M
D & =1 800 M| 265m 90F| 149 3 # 9H D & E| 3300M 30 4 3,300 M
T B & & 790 A| 268 m Ml 14 4 F 9M ||T B E & 320H 30 o 3,260 M
3. HEE
BB E B BtEE
NFEE . B EE BEOF R HRER
2 ok mMEES 305} MEEE
A (EEES) 780 M| 274m 90HM| 1 4% 40 % 90H A (EREE) 3,200 M 30 43 3,200 A
B & = 770 M| 278m 90 M| 1 4 40 % 90H B & E| 3160M 30 4 3,160 M
C & g 760 | 281m 90M| 1 4 45 F 90M CiE B 3120M 30 o 3,120 H
D & =1 750 M| 285m 90FM| 1 4 45 F 90M D & E| 3080M 30 4 3,080 [
T B & & 740 M| 289m 90F | 14 45 F 90H [T B E H| 3040M 30 o 3,040 M




